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DIPLOMA IN SECURITY MANAGEMENT 
(DSM) 

Term-End Examination 

June, 2013 

BSEI-006 : SECURITY PERSONNEL 
RESPONSIBILITIES 

Time : 3 hours 	 Maximum Marks : 100 

PART-A 

1. 	Multiple choice questions : 	 10x1=10 

(a) Inventory mistakes could cause a loss of : 

(i) 1/3 of shrinkage 

(ii) 10% of shrinkage 

(iii) 2.1% of shrinkage 

(iv) Maximum shrinkage 

(b) Financial loss due to fire is : 

(i) Avoidable 

(ii) Most common 

feci- 	(iii) Least common 

(iv) Most expensive 
(c) All private security agencies are governed 

by : 

(i) PSAR Act 2002 

(ii) PSAR Act 2003 

PSAR Act 2004 

(iv) PSAR Act 2005 
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(d) One of the purpose of escort duty of a guard 
is : 

(i) To prevent loss of valuables, damage 

to property and protect confidentiality 
of information 

(ii) To escort the customers to the 
destination 

(iii) To prevent loss of life and valuables 

(iv) None of the above 

(e) Security operates : 

(i) As a separate department in the 
industry 

(ii) As a part of personnel or 
administration department 

(iii) Directly under the CMD 

(iv) None of the above 
(f) 	The duties of a security guard are : 

(i) Check identity of visitors and 

employees before entry 

(ii) Assist in searches against suspicious 

people, places and vehicles 

(iii) Conduct surveillance of critical areas 

(iv) All of the above 

(g) 
	

Theft is : 

(i) Greatest cause of loss 

(ii) Not greatest cause of loss 

(iii) Accepted by the organization 

(iv) None of the above 
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(h) A security guard can be : 

(i) Employed at any age 

(ii) Employed between 18 and 70 years 

of age 

(iii) Employed between 18 and 65 years 

of age 

(iv) Employed between 17 and 65 years 

of age 

(i) 
	If a private security guard or supervisor 

wears a uniform similar to the uniform of 

Army/Navy/Air Force he can be punished 

with : 

(i) Imprisonment of 6 months 

(ii) Imprisonment that can extend upto 

1 year 

(iii) Fine only 

(iv) Imprisonment that can extend upto 

1 year and fine 

(j) 	Industrial security can be divided into : 

(i) Preventive and Protective security 

(ii) Protective and Detective security 

(iii) Punitive and Preventive security 

(iv) Preventive, Protective, Detective and 

Punitive security 
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PART-B 

True or False (V / x) : 
	 6x1=6 

(a) The sole purpose of security guard is to ( ) 

protect property. 

(b) Any country's development depends 

directly on the progress of its industrial 
growth. 

(c) A private security agency can commence its 

operations within 1 year of obtaining the 
licence. 

(d) All information required by a security 

officer/guard is contained in assignment 

instructions. 

(e) The objective of reception duties is to prevent 

access by unauthorized persons. 

(f) A security guard should escort cash 

collection party to and from bank. 
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PART-C 

Fill in the blanks : 	 12x1=12 

(a) Protection of person, property and 
information from internal/external threats 

comes under 	nature of security 

role. 

(b) Detective roles are applied to detect crimes 

at 	 stage. 

(c) Persons below 	years cannot be 

recruited as security guards. 

(d) A person commits fraud by obtaining 

material advantages by 	means. 

(e) The principal objective of security•officer is 

to prevent 	 or 	 

(f) It is essential that names of 
contacts should be mentioned in the 

assignment instructions. 

(g) The purpose of patrolling is to keep 

observation of the 	and activities 

of the organization. 

(h) Post instructions contain specific duties of 

that 	 post. 

(i) Cables without 	 are a security 

risk. 

(j) Gate house duties could be similar to the 

duties at 	 

(k) A supervisor is responsible to maintain 

security ____ 	at the gate/ security 

office. 

(1) 	One of the functions of private security is 
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2. 	Attempt any seven questions : 	 7x6=42 
(a) Write briefly the detective role in a security 

setup. 
(b) Explain the conditions under which the 

controlling authority can cancel the security 
licence. 

(c) Briefly explain what is loss prevention. 
(d) List out any five instructions that should be 

part of assignment instructions. 
(e) What is the purpose of patrolling ? 
(f) Why does the industry have to rely on their 

own security ? 
(g) What is Guild sponsored security ? 
(h) What is the meaning of private security 

agency ? 
(i) Briefly describe escort duties. 

0) What will you check during a structured 
inspection of the gates of a factory ? 

3. 	Answer any three : 	 10x3=30 
(a) List out any five duties of a security 

supervisor. 
(b) Briefly describe how was the security 

applied in 11th  to 18th  century. 
(c) What type of information you should find 

out about your assignment ? 
(d) List out any 10 potential security risks on 

duty. 
(e) What advice can a security consultant 

give ? 
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3itiiwT17 	: 100 

1. 	.1qrcieb(-41q 	 : 
	 10x1=10 

(a) 	(1) It-$*4 74 
fit: 
(i) 173rd  of shrinkage ( 	 

(ii) 10% of shrinkage ( 	 

(iii) 2.1% of shrinkage ( 	s14-1 I ) 

(iv) Maximum shrinkage ( 

.k-iT5-14-i I 	0 

(b) 3f1)11 14 APT 	T*71Tff : 

(i) ci 	ml I 	iicbc11 t I 

(ii) Trq-A3Tf 1 3-Tm t 

(iii) . :1-4-t4   t I 

(iv) TP74 34f' 	 t 

(c) 	kTfT-zir 	3TN-F-971-14/ -Trii 

lq 	 t : 
(i) PSAR Act 2002 
(ii) PSAR Act 2003 
(iii) PSAR Act 2004 
(iv) PSAR Act 2005 
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(d) Escort Duty T 707 	 : 

(i) of 	 1 

q -citcr 

(ii) Arq 	X11 11 

(iv) 

(e) 	iT -f4111-7 

(i) 	.,1r4 Ich Ti-f7T TITfay t I 

(ii) (Personnel) 3-T7'4T 1,--17TTTN 

(Administration) f49-1FT iI f IT t-  I 

(iii) t I 

(iv) -9-4 	161 

(f) 
	

: 

(i) 	3-Trrk--*-1: * *4111-“Ii* 	 clq 

7rf 	f, 7f41 c-Thil 

(iii) 41441 (Surveillance) 9T 

(iv)  

(g)   : 

(i) 
	

111'01 t` I 

 T *Rur 	 t 

(iii) #T-9-11 	 t 

(iv) 	 A *1i -161 
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(h) 783T7Tit 

(i) 174,4 %ft 	*t17.-*1 t ►  

(ii) is* 715f. 	*tr Trwa t 

ist 65-44 wi• 	*-017-*1 t 

(iv) 17 14 65711V1 	*tiTqatl 

(i) 	aTrrK 	13MI Trrt ltkt 	ti”or t 	ETF/ 
7F/qTzi t71 	w(4 r-p-ifeifiscr 	fTru 
fit. 

(i) * 

(ii) chfccf10/17 t "RW'MV t TiVef 

t I 

(iii) .4,ccf 	fir 

(iv) T,IW TfTU WW 	chimefitf 

	

(j) 31ItterfW TO 914 Tht WrIl fa e-4ff t 	 
t : 

(i) r-.a at 51) eftcf itictq 	fia 

(ii) Alatcr At fear 	,:tect f 	liar 

(iii) (iii) rifee4 aftT 	-ecr fitmei 	 

(iv) silclf:ta, 	eftef, fe Nee( aVea 
tiqq4)11a 
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(b) f i 1ft t'T ch 311.6 3 aften fq*R3 	( ) 

(c) -177-d-a NcH'IRd1  	c,14 	trq-qm ( ) 

	

ti c-111 cqcHill chi 4,110-1 Gilt 	t1 

(d) 9r 411 3-11c0q41d1 ‘1c11 	) 

01   (4114) fi--74 	t 

(e) 7k-F-4 31-9-N-T7 4 	T 411 ( ) 

(f) R-T Vi-TT  4115 	A 	 ":1TRT AT ( ) 

zi I -1T -q 31-Ft I 
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T9-1F 1 : 	 12x1 =12 

(a) 	 Trzcrffl. 	1-q-9-r 	31-f-d-rFT 	-uat 

tit Tr •-11 Tur 	 aTrt t 

(b) fsZf 	, arci-Tre 	Licit (14[14 t 1-  

fwai ,111c11 t.  I 

(c) 1.)1 31-pi A ch+-1 

tt\L1 	 -1011c11 1 

(d) -) 	 t Aci 	 

3174 fff? 3T1f4it 3d1c1 t 1 

(e) tAtkTT 3-TrWT- 	 *471 	 

3-12  MT 	A 	t 1 

(f) n-aTi 7 	 7 1,1 41 34-r-4 

	

cl 	ar-a-q-zr 614ff 	0 

(g) y 	Rd (1 411 Wr 3t471 Tlt-P-TT ch..) 	 

	

tri 	IW 	-1>rk 	 t I 

(h) 31rk7r  	 t al 	 74 

6)a 

(1)   aid 	t fa-9-r Tur frT 

(j) -> 	i;rwR 	a-)14 

ti 

(k) tur fd-zfavr 	get 1R  	1n1 

:3144*-1a1(   chi 61c11 t 1 

(1) 	-IA tit -Tr 	.wrzi  	I 
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2. 	eh 717 Pi 	: 	 7x6=42 

(a) 111?_.:11 err 4 Fs 	ra-da tlrl t 	4 *1-'4 4 

(b) qWf ft-2,1-W? t, f   3T121rftal- 

P-i*-11Ra 77;1--- 4 	 t 

(c) 	 qru *alci 	 f-ff44 

(d) t(w f-dtqT 	5 -f -d 

(e)  
(f) AlrfrlT -#T-21-r4 ail 31791-  r-igi1 Tut ail7.* 

(g) Ic-s5 	(Guild sponsored) Twf--*t 
tI 70414 31 

(h) WOE 	7*--411-  374 lT I t, Tf4cr 

(i) 3 	t (Escort) *14/ 	34 al Tf4r oqRsql 

(j) 31791 NT- TT 	T gR chi 	 

	 31T9 	lcb 041 

	

3. ftt *9.  7Vt rT 31( : 	 10x3=30 
(a) Tqr 	 rsTi IFo'ITT -F4RFT 

f-ed I 
(b) 11 1418 Trqr 	t-AtW 	14 f-d1117 	\3-11-1111 

(c) 31-9-4 •WrzNITT (1;31 	aR 	 31-R 

	

Tp-9-r Lifrif LI 	I 	f011 I 

(d) ttqf #T-9-1-1t 4 rwl- 	 -&-d/1-rfuri 

tTr*ttl 
(e) tit Tr fq"Atl- 

f-o-4 
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